Practice Lesson 22 04 20

GROUP I-219ia, 219i6e,219iBe

1.18. Practice lessons No7. Integration of the
equations by Lagrange and Clairaut

Classwork Answers

Find the solution of the equations:

7.1.y=xy'+y?.

y =Cx+C?,

singular integral x> +4y =0.

1
7.2. y=xy'+—. y:Cx+%,singular integral y* =4x.
y =Cx+sinC, singular solution
7.3. y=xy'+siny’.
y = X(m—arccos x)+/1-x*.
=Wx+1+C 2,
7.4. y=y?*(x+1). v _ )
singular solution y =0.
7.5. y=yy'?+2xy'. 2Cx =C? — y?, no singular integral.
, , y =Cx+e°,
7.6. y' =In(xy'—vy).

singular solution y = x(In x —1).

7.7.

o - y=Cx+al1-C?,
y=xy'+ayl-y~. | _ - - -
singular integral \/7—\/72\/;.

Homework Answers

Find the general and singular solutions of the equations:

7.6.

y =Cx—3C?,

= xy' —3y".
Y= singular integral 9y +2x+/x =0.




7.7. y=xy' +1+y?.

y =Cx++1+C?,

singular integral x* +y* =1.

7.8. xy'—y=Iny’.

x=Cx-InC,
singular solution y=Inx+1.

7.9. 2yy' = x(y’2 +4).

1
=Cx* +—,
y C

singular integral y*—4x°* =0.

7.10. y=x(1+y)+y".

x=Ce?+2(1-p)

y = X(1+ p)+ p?, no singular integral

7.11. y=y'(x+1)+y".

y=Cx+C +C?,

singular integral y = —%(x +1).

7.12. x = y(

1_1}
Jy'

(C—x)y =C?, singular solution y = 4x.
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